

February 24, 2016 LCD:  $\Delta \circ$

#1)  $\frac{\$ - \Delta}{\Delta} - \frac{\$ - \Delta\Delta}{\circ} = \frac{\#}{4\circ}$ , for  $\$$

*not a "one"*

$\Delta \circ \left( \frac{\$ - \Delta}{\Delta} \right) + \Delta \circ \left( \frac{\$ - \Delta\Delta}{\circ} \right) = \Delta \circ \left( \frac{\#}{4\circ} \right)$

$\circ \$ - \Delta \circ - \Delta \$ - \Delta \Delta \Delta = \#$

$\circ \$ - \Delta \$ = \# + \Delta \circ + \Delta \Delta \Delta$

$\$ (\circ - \Delta) = \# + \Delta \circ + \Delta \Delta \Delta$


$\frac{\$ (\circ - \Delta)}{(\circ - \Delta)} = \frac{\# + \Delta \circ + \Delta \Delta \Delta}{(\circ - \Delta)}$

$\$ = \frac{\# + \Delta \circ + \Delta \Delta \Delta}{(\circ - \Delta)}$

Feb 24-9:11 AM

2.4 #15)  $V = \frac{1}{3} \pi r^2 h$  for  $h$

LCR: 3



$\frac{3V}{\pi r^2} = \frac{\pi r^2 h}{\pi r^2}$

$\frac{1}{3} \pi r^2 h$   $\frac{3V}{\pi r^2} = h$

$= \frac{1}{3} \cdot \frac{\pi}{1} \cdot \frac{r^2}{1} \cdot \frac{h}{1}$

~~$\frac{3}{1} \cdot \frac{\pi r^2 h}{3}$~~

Feb 24-9:27 AM

#28)  $A = \frac{a+b+c}{3}$ , for  $a$

$\frac{3}{1} \cdot \frac{A}{1} = \frac{3}{1} \cdot \frac{a+b+c}{3}$

$3A = a + b + c$

$-b - c$   $-b - c$

$3A - b - c = a$

Feb 24-9:34 AM

$\frac{\$ + (-\Delta)}{\Delta}$

*not a "one"*

Feb 24-9:13 AM

#23)  $A = \frac{1}{2} h (b_1 + b_2)$ , for  $h$

$\frac{2A}{(b_1 + b_2)} = \frac{h (b_1 + b_2)}{(b_1 + b_2)}$

$\frac{2A}{(b_1 + b_2)} = h$

Feb 24-9:42 AM